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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x7=7
fuife g@td oom errze Bes il ¢
(a) Define null hypothesis.
e e e fan

(b) 95% confidence interval for population
mean (y) for large sample test is
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(d)
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(i) xii?.SSJﬁ-
(Choose the correct option)
(o7 Geaeh! AR CAsT)

Write any one basic assumption of
ANOVA.
ANOVAR Rl &bt enfics s il

Level of significance is denoted by :
Aol &1 o Wl =

i) ¢«
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(e)

(i) B
(iv) None of the above (‘€9 GBI® 72A)
(Choose the correct option)

- (9% CeICH! AR Cleved)

In one way classified data, sum of

squares due to error (SSE) is obtained
as :

& N Reiftre v/ cFae 35 @NTFeR &o
Bfenedl 27 8

(i) SSE = SSR-SSC

(ii) SSE = Total SS - Treatment SS

(i) SSE = SSC - SSR

(iv) None of the above (\8%JF (FIFIGIE
)

(Choose the correct option)

(%% Gehr AR et

() For a ‘sign’ test, if two scores are tied,
then we discard them.

(State True or False)

B <! IR FEITS W 7! Y T 7,
(OT% TRA! =i 3w fé|

(% @ 9% fo2)
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2.

(9)

In ANOVA test, following test statistic
is used :
ANOVA #iSrsre RafilRe i afomfem
FRA WA ¢
(i) Z test
(i)~ F test
(ii)) t-test
(iv) None of the above (\€2IRT IR
=A)
(Choose the correct answer)

(a7 GewCs! IR ClTed)

Answer the following questions : 2x4=8

Ao 0|

opyraiee Bee fra ¢

(a) Write one diference between simple and

(b)

composite hypothesis.

T I ARG AT Rigereet 51 i Tt |
Explain the term ‘standard error’.
e @’ = o I A

Define treatment and experimental
error in design of experiment.

Wmﬁmwﬁm@ﬁw@
gzl
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(d) What do you mean by ‘Yates's

correction’?

AT ol I & @

Answer any three questions from the

following :

5x3=15

oiq [t fofabt e Bes fordl 8

(@)

(b)

(c)

Write the basic principles of design of

experiment. :
o SIS G AR REw

A random sample of 500 apples was

taken from a large consignment and
60 were found to be bad. Obtain the
(i) 95% and (i) 99% confidence limits
for the percentage of bad apples in the

consignment.

@Il B! g2 AN o[ RN 50051 ST
e el 600! STsteT R &=, TS
(oAl G AR (i) 95% W (if) 99% R
Mt [efw =0

Write five advantages of non-parametric
methods over parametric methods.
APE HF GFIS SRS “TafS3 160!
AR feraty '
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. . . ) (b) Describe the procedure in median test
(d) D1sx:;u.ss. in det.all how Chi-square when there are two independent
statistic is used in testing goodness of samples. What non-parametric test
fit. would you use when the two samples .
are related ?
22 AfefeR RNl (T FIeH (el =1
FRT AR 3@ =0 7ot weg eiforedq N AR eIt ggﬁt
71 | itz 2o 751 i 27, org o &
(e) Construct an ANOVA table of an S F_al
GABIS [ |
experiment involving six treatments in
four randomised blocks using the 5. Answer either (a) or (b): 10
following data : (@) 599l (b) I e fomall ¢
Y SUPTR IR IR GIRGI Afes Qe (@) What is a randomised block design ?
=01 To5I 4! FITFIR 9397 ANOVA Sifeial Write its advantages and disadvantages.
oS 41 ¢ 2+4+4=10
SST = 901.19 e o iR Foe 2 SR o SR
R S 9|
SSB = 219.43 .
(b) (i) For a 2x2 contingency table 5
Total SS = 1350.25
@3 2x2 TRYBILT Sifees AW
4. Answer either (a) or (b): 10 alb
(a) T4 (b) 3 Ta o7t ¢ | cld
| Show that ((T83 @)

(@) Discuss in detail the analysis of “

variance of one way classified data. | 2= N(ad - be}’
GIEN KOG ©U7 AR R oo .} | @+p)c+d)b+d)a+c)
IO 1| | where, (%) N=a+b+c+d

i;
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(i) Write any five applications of %2

distribution. 5
X2 3% R 5B ercaet S <
6. Answer either (a) or (b) : : 10
(a) @4t (b) T TeR il ¢
(a) Derive Wilcoxon two sample test.
B! 2ifomfT I Wilcoxon 1 1icht 21 11|
(b) Write short notes on : - 5+5=10
53 (GBIl for 3
(i) CRD

(i) Principal steps in testing a
statistical hypothesis.

ARFRRIFI 2iwst 41 2l stz |
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